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B (238 08) 109.10.08 1.65 0.03 ND 0.624 ND 0.447 0.25 1.02 ND
EEFTLREMRTLE . 5 5 100 1 5 2.5 15 0.2
T & 3l B 1 TCLP #2485 pH TCLP %%l |TCLP 44| AskF B & 5 —fib®w | ZRib—48| =R
(mg/L) (mg/L) (mg/L) (%) (%) (%) (%) (%)
JEEQ5ENE) 109.10.08 ND 12.34(25.0°C) ND <0.050 20.6 6.80 19.8 0.55 3.30
BEEFTEBREMRELIZE 5 2 1 : = - = 5 -
B A 2k A & 8 i f1645 4% 4w g a4 gk 4 g 448 4a 45
(%0) (mg/kg) | (mg/kg) (mg/kg) (mg/kg) (mg/kg) (mg/kg) (mg/kg) (mg/kg)
JEE(QIENE) 109.10.08 4.48 <0.200 <20.0 370 2020 177 2310 254 12.4
HEFLEBEMREZE - - - - - - - - -
P ol .8 A R i:;” BB Rk | MIERE
% 5A) 25 {3t B 58] B 47 ] .
ng I- I -
(mghg) |gm)| 25| o) #ES R =
EE(23EME) | 109.10.08 ND 1781 0.007 1.0 é“’%”‘iﬁ f:ﬂiiﬂif’ﬁﬁ Ré]
AES LR EMBRSE : & 1 : R F AR
B fF A:# &R
BEREIE: IR R F




HAn AR & HIR AR RS PAT RIS BA T #3677 375 HUIR A BB

R HL R JE £ i WA B 46 R

"R LR A R AR R SR

1E 4
Emgn | paay| B | S%B |TCLP_os | TCLP 4 |TCLP 44| TCLP a4 TCLth B rerp s | TOLP
v N . A 7 5 7R
(%) (%) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L)
FJE & et (255 4E)| 109.10.08 38.9 5.84 |<0.100(0.032) 1.11 14.5 ND <0.02 14.2 0.0030
e AR (23EHE) 109.10.08 10.0 0.26 ND 0.778  [<0.030(0.012)]  3.30 1.50 ND ND
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